



Distribution:	Address:	301 Jackson Street F 77469	Richmond,Texas
☑ FBC Engineering	Phone:	281-633-7500	
☑ FBC Judge	Web site:	www.FortBendCount	vDx aov
☑ FBC Purchasing	Trop dito.	WWW. Ort. Doring Country	y i Aigot
☑ Contractor			
☑ Consultant			
PROJECT:	CHANGE ORD	ER NUMBER 1	
Katy Flewellen Road Segment 1 (13316)			/2022
CONTRACTOR:		MBER 13310	
Allgood Construction	BID NUMBER .	21-02	3
1702 Settegast Ranch, Richmond, TX 77406	CONTRACT DA	ATE	
The contract is changed as follows:	FBC PURCHAS	SE ORDER NO 1952	54
Adjusting existing contract quantities			
Not valid until signed by Fort Bend County.			
			• • • • • • • • •
		ginal (Contract Sum)	
		rized Change Orders	
The (Contract	t Sum) Prior to th	is Change Order was	\$ 4,426,986.54
The (Contract Sum) will be ☑ increased or □	□ decreased or	□ unchanged by	
	this Change C	order in the amount of	\$ 400,234.13
The new (Contract Su	m) including this	Change Order will be	\$ 4,827,220.67
The Contract Time will be ☑ increased or □	decreased or	□ unchanged by	455 Days
The Contract End Date as of this Change Order therefore is	☑ changed or	□ unchanged to	01/05/2023
Au	thorized:		
Fort Bend	County Judge		
Honorable 301 Jacks	KP George		
Richmond	, Texas 77469		
Ву:			
(Sigr	nature)		_
DATE:			
-			



Project Code	13316	Report Run Date	07/31/2023
Project Name	Katy Flewellen Road Segment 1 (13316)	Change Order Date	11/10/2022
Contract Number	CN-1	Original Contract Amount	4,426,986.54
Contractor	Allgood Construction	Current Contract Amount	4,426,986.54
Change Order Number	1	Net Change This Order	400,234.13
Short Description	Adjusting existing contract quantities	Contract Amount After Change	4,827,220.67

Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$		
Construction	Construction							
	7	Remove Old Structures - Inlets (All Depths)	EA	1.0000	540.00	540.00		
	11	Remove and Dispose of Existing Asphaltic Surface and Base Materials Including Driveways and Side Streets (All Depths)	SY	717.0000	3.00	2,151.00		
	12	Lime Stabilized Subgrade Manipulation, 8" Depth	SY	-2160.0000	2.64	-5,702.40		
	13	Hydrated Lime (Slurry Applied) for Stabilization (5% by Dry Weight)	TON	12.1200	210.00	2,545.20		
	14	Reinforced Concrete Pavement - 8" Depth	SY	354.9100	49.14	17,440.28		
	15	Seal Slab	SY	-70.0000	144.00	-10,080.00		
	16	Mow Strip (Concrete)	CY	5.0000	324.00	1,620.00		
	17	Furnish & Install Metal Beam Guard Fence (MBGF)	LF	137.0000	29.18	3,997.66		
	19	Concrete Driveways	SY	1581.5500	72.00	113,871.60		
	20	6" Concrete Curbs	LF	705.0000	3.00	2,115.00		
	22	Medians and Directional Islands	SY	-9.0000	72.00	-648.00		
	23	Coloring Concrete for Median Noses	SY	-9.0000	6.00	-54.00		
	24	Trench Safety Systems (All Depths)	LF	-48.0000	1.20	-57.60		
	25	Flowable Fill	CY	-165.0000	222.00	-36,630.00		
	26	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (18")	LF	-66.0000	66.00	-4,356.00		
	27	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	31.0000	76.20	2,362.20		
	29	Safety End Treatment - Type 2 (6:1) (PD) 18" RCP	EA	-2.0000	1,020.00	-2,040.00		
	39	Reinforced Concrete Box Culvert, C1433 - 5' x 2', Rubber Gasket	LF	18.0000	340.22	6,123.96		
	41	Wingwall (PW-1)(HW=8 FT)	EA	-1.0000	54,499.20	-54,499.20		
	42	Wingwall (PW-1)(HW=10 FT)	EA	1.0000	65,124.00	65,124.00		
	44	Work Zone Pavement Markings 24" White/Solid (Removable) Furnished, Applied & Removed	LF	59.0000	4.80	283.20		
	45	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished, Applied & Removed	LF	-260.0000	0.62	-161.20		
	46	Work Zone Pavement Markings 4" White/Solid (Non-Removable) Furnished, Applied & Removed	LF	-701.0000	0.42	-294.42		



Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$	
Construction	Construction						
	47	Work Zone Pavement Markings 4" Yellow/Solid (Non-Removable) Furnished, Applied & Removed	LF	-509.0000	0.42	-213.7	
	51	Work Zone Reflective Pavement Marking (Arrow) (Removable) Furnished, Applied & Removed	EA	-1.0000	108.00	-108.0	
	52	Work Zone Reflective Pavement Marking (Word) (Removable) Furnished, Applied & Removed	EA	-1.0000	108.00	-108.0	
	55	Traffic Control - Barricades, Barriers, Barrels, Cones and Signing	MONTHS	13.0000	1,620.00	21,060.0	
	58	Low Profile Concrete Barrier Type 1 & Ty 2 (Furnish, Install)	LF	-1180.0000	30.00	-35,400.0	
	59	Low Profile Concrete Barrier Type 1 & Ty 2 (Move & Reset)	LF	-920.0000	6.00	-5,520.0	
	60	Low Profile Concrete Barrier Type 1 & Ty 2 (Remove)	LF	-1180.0000	12.00	-14,160.0	
	108	Sodding for Erosion Control and Stabilization (16" Behind Curb)	LF	2178.0000	3.30	7,187.4	
	115	Rock Filter Dam (TY 1, 60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-60.0000	60.00	-3,600.0	
	116	Rock Filter Dam (TY 2, 60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-60.0000	72.00	-4,320.0	
	117	SWPPP Inspection and Maintenance (Min. Bid - \$6000/Month)	MONTHS	12.0000	6,000.00	72,000.0	
	122	Flex Base (6" Depth)	SY	-151.0000	42.00	-6,342.0	
	128	Reinforced Concrete Slope Paving (5" thick)	SY	756.2600	102.00	77,138.5	
	129	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-2184.6000	1.50	-3,276.9	
	130	Stabilized Construction Access, Type 1 Rock (60% of unit cost for furnish and installation and 40% of unit cost for removal)	SY	-445.0000	15.00	-6,675.0	
	131	Rock Filter Dam (TY 1, 60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-120.0000	60.00	-7,200.0	
	132	Rock Filter Dam (TY 2, 60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-100.0000	72.00	-7,200.0	
	133	Concrete Interceptor Structures	EA	-0.5000	3,000.00	-1,500.0	
	135	Well Pointing System (Min. Bid \$15/LF)	LF	-1000.0000	18.00	-18,000.0	
	138	Construction Safety Fence	LF	-2000.0000	1.50	-3,000.0	
	139	Off Duty Uniformed Officer - As Directed by the Engineer (Min. Bid \$25/HR)	HRS	-240.0000	30.00	-7,200.0	
	140	8-Inch Cement Stabilized Sand	SY	2135.0000	14.75	31,491.2	
	141	6-Inch Cement Stabilized Sand for Commercial Driveways	SY	2253.5500	12.25	27,605.9	
	142	2-Inch Bank Sand for Residential Driveways	SY	79.0000	7.50	592.5	
	143	VIVDS Cameras revision from Wireless Magnetometer for signal detection per FBC Request	LS	1.0000	5,762.32	5,762.3	
	144	Sawcut and remove curb for additional Driveways along Gaston Rd	LF	268.0000	17.70	4,743.6	



Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$
Construction	Construction					
	145	Dowel on Curb	LF	812.0000	6.25	5,075.00
	146	Demobilization	LS	1.0000	12,450.00	12,450.00
	147	Remobilization	LS	1.0000	12,450.00	12,450.00
	148	Pump/draining storm sewers prior to demobilizing	EA	3.0000	667.00	2,001.00
	149	Re-building channel due to washout at RCB/Slope paving	LS	1.0000	9,773.34	9,773.34
	150	Re-work subgrade after remobilization	LS	1.0000	20,251.55	20,251.5
	151	Mowing ROW	EA	2.0000	1,600.00	3,200.00
	152	Mowing at Channel	EA	1.0000	2,500.00	2,500.00
	153	Material Escalation	LS	1.0000	96,602.06	96,602.06
	154	MBGF revisions at Channel	LS	1.0000	8,522.00	8,522.00
	Container Total					400,234.13
	Grand Total				400,234.13	